CS 24: Introduction to Computing Systems

Lecture 5 Exercises
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(a) 00000000004004f0 <mystery>:
4004f0: 85 ff test %edi,%edi
4004£2: 74 08 lF(ﬁil‘* /L— 4004fc <mystery+0x0c>
4004f4: Of af £7 Yemsn@b imul i,%esi
4004£7: 83 c7 ff ffff,)
4004fa: 75 £8 VQ{QK%JV Gﬁ' jne 4004f4 <mystery+0x04>
—4004fc: 89 0O mov hesi,heax
4004fe: c3 retq T

b\l2%900000004004f0 <mystery>:
4004f0: 83 ff 03
4004£3: 72 1le
\ 4004f5: bl 01
4004f7: Tc 17
4004f9: 89 fe
4004fb: bf 02 00 00 00
400500: 89 £0 g
400502: 99 y “9/9‘
400503: £7 £f P03
400505: 85 d2
400507: 74 Oa :
400509: 83 c7 01
40050c: 39 f7
40050e: 7c £O
400510: 89 c8
400512: c3
400513: 31 c9
400515: 89 c8
00517: c3

$0x3, %edi

0513 <mystery+0x23>
— =l )
400510 <mystery+0x20>
%edi,%esi< ey =@l7
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Ox= {bt*7€1£4 dd 4&1?‘4\a€bg( o oA
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%esi,hedi

400500 <mystery+0x10> eo(, < fso
%hecx, heax

%ecx,%hecx
%ecx, heax
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(<) 0000000000000000 <mye¥ery>: Y } L .
0: 48 8b 07 Tmor—Cera) ar) \ Vo = % @i
3: 48 8b 16 " mov (%hrsi) ,%rdx fd&c:%@
6: 48 89 17 W X =
9: 48 89 06 mov o sCLTS1
c: c3 retq

0000000000000000 <mystery>:

0:

0 O BN

8b 07 mov (%rdi) ,%eax
8b 16 mov (%rsi) ,%edx
89 17 mov Y%edx, (%hrdi)
89 06 mov %heax, (%rsi)
c3 retq

0000000000000000 <mystery>:

0:
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0f b7 07 movzwl (%rdi),%eax
Of b7 16 movzwl (%rsi),%edx
66 89 17 mov %dx, (hrdi)
66 89 06 mov Y%ax, (Yhrsi)
c3 retq



